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General Instructions:

1 There are 34 questions in the question paper.

2. All questions are compulsory

3. Question nos. 1 to 20 carrying 1 mark each.

4 Question nos. 21-24 are short answer type—| questions
carrying 3 marks each.

5. Question nos. 25-30 are short answer type—Il questions carrying 4

marks each.
6. Questionnos.31-34 are long answer type questions carrying 6 marks each.
7. There is no overall choice. However, an internal choice has been

provided in 2 questions of three marks, 2 questions of four marks
and 2 questions of six marks.
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The occupation in which people work for others and get remunerated in return is
known as

a) Business

(

(b) Profession
(c) Employment
(

d) Trade
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Statement-| Entrepot Trade is where goods are imported into a country and then re-
exported out, without being distributed within the importing country.

Statement-Il Import trade refers to purchase of goods from one country for the
purpose of selling them to another country.

Choose the correct option from the options given below:
a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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The main disadvantage of a general partnershipis
(a) The unlimited liability of the partners
(b) Disagreement amongst partners

(c) Shared management

(

d) Difficulty of termination
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Identify the type of retailer illustrated by the picture given above.

(a) Departmental store
(b) Chain Stores
(c) Mail-order business

(d) Tele-shopping
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Which of the following enterprises may benefit the most from an established brand
name at the time of incorporation?

(a) Departmental Undertaking
(b) Government Company
(c) Statutory corporations

(d) Joint Venture
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affiliates?

b) MNC — Multinational Companies

c) Public Sector Enterprises

(
(
(
(

d) Private Sector Enterprises

a) MOFA — Ministry of Foreign Affairs
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Which of the following types of organisations has the capability of expanding the
market territory and operating through a network of subsidiaries, branches, and

a) i-d, ii-c, iii- b, iv-a
b) i-d, iii-c, ii- a, iv- b
c) i-c,ii-d, iv- a, iii- b
d) ii-c, i-d, iii- a, iv- b
Match the following:

(i) Services

(ii) Commercial banks

(iii) Mail Services

(iv) Goods
a) i-d, ii-c, iii- b, iv-a
b) i-d, iii-c, ii- a, iv- b
c) i-c,ii-d, iv- a, iii- b
d) ii-c, i-d, iii- a, iv- b
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(a) Have a physical appearance
(b) Parcel Facility
(c) Fund Remittance
(d) Intangible activity
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is not a type of general insurance.

(a) Marine Insurance
(b) Fidelity Insurance
(c) Fire Insurance

(

d) Life Insurance

RESENCMERSSRIEIECIPER TR % Z-h(HY oAead & A & |
(Q) =ft2e Fias

(<fT) Hr24T AT
(TY) 2t Fiae
(1) Hr2et arforsT
Both Sellers and buyers are business firms, under type of e-commerce
transaction.
(a) B2B Commerce
(b) C2B Commerce
(c) B2C Commerce
(d) C2C Commerce
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\Which responsibility of the business is not the responsibility of the business to the
government:
(a) Following the pollution laws as set by the government
(b) Establishment of the industrial undertaking as per the government norms
(c) Providing after sales service
(d) Payment of the fees, tax, surcharge etc. with the honesty
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(a)Consumer to Business
(b)Business to Consumer
(c)Business to Business

(d)Consumer to Consumer
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Statement-l Owners' Funds includes profits that are reinvested into the business.
Statement-Il Only short term or limited needs could be fulfilled by internal sources of
funds.

Choose the correct option from the options given below:

13.

a. Statement lis true and Il is false
b. Statement Il is true and | is false
c. Both the statements are true
d. Both the statements are false
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Which is not the characteristics of small business:
(a) Unlimited work scope

(b) Free management

(c) Priority of workers

(d) Limited investment.
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Dramatic work is protected under
[a]copy right

[b]Patent

[c]trade mark

[d]crowd funding
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A is any word, name, or symbol (or their combination) that lets us
identify the goods made by an individual, company, organization, etc.
[a] Design
[b]copy right
[c]patent

[d]Trade mark
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Which of the following statement is not correct?

a. Business services are those services which are used by business enterprises for
the conduct of their activities.

b. Social services are those services that are generally provided voluntarily in pursuit
of certain social goals.

c. Personal services are those services which are experienced differently by different
customers.

d. Commercial Banks are governed by Commercial Banking Regulation Act 1959
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GST was implemented in India from
A) 1st January 2017

B) 1st April 2017

C) 1st March 2017

D) 1st July 2017
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The WTO was established to implement the final act of the Uruguay Round Agreement of

(a) MFA
(b) GATT
(c) TRIP’s
(d) UNO
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Which document is made by the exporter which contains details of the goods to be sent
by ship like name of the sender, number of packages, shipping bill, destination port, name
of ship, etc.

(a) Shipping bill

(b) Packaging list

(c) Mate’s receipt

(d) Bills of exchange.
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Read the following statements: Assertion (A) and Reason(R).
Choose the correct alternative from those given below:

ASSERTION (A): International business acts as a source of earning foreign exchange
reserves for the nations.

REASONING (R): International business provides a platform for the countries and
producers to sell their produce to a base of international consumers.

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A)

c) Assertion (A) is true but Reason (R) is False

d) Assertion (A) is False but Reason (R) is True
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State the different types of economic activities.
OR

How would you classify business activities?
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What do vou understand by the social responsibility of business? How is it different
from legal responsibility?
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How does market information provided by wholesalers benefit the manufacturers?

Imagine a life without your local markets. What difficulties would a consumer face if
there was no retail shop?
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What is a letter of credit? Why does an exporter need this document?
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Can the public sector companies compete with the private sector in terms of profit
and efficiency? Give reasons for your answer.

OR
\Why global enterprises are considered superior to other business organisations?
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Social Responsibility is the sole objective of a business. Do you agree? Explain.
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Why do business enterprises need to adopt pollution control measures?
OR

What are the major areas of social responsibility of business?
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\What preferential rights are enjoyed by preference shareholders? Explain.
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29. Explain trade credit and bank credit as sources of short-term finance for business
enterprises.
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30. Differentiate between International trade and International business.
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Harmeet Singh owns a large scale retail outlet in Chandigarh. He deals with various
kinds of products in his shop like textiles footwear, cosmetics, stationary, Grocery,
etc. He sells them in different divisions in his big shop.

In context of the above cases:

1. Identify the type of retail outlet being described in the above lines.

2. State any five features of that outlet.
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Describe the role of small business in rural India.

OR

What measures has the government taken to solve the problems of finance and
marketing in the small scale sector?
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Describe various types of insurance and examine the nature of risks protected by
each type of insurance.
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Akriti, Sonam & Supreeti were friends who started a partnership business. They did
not get their firm registered as it was optional. Soon, Sonam & Supreeti started
having conflicts. Sonam wanted to approach a lawyer. If you were a lawyer than how
would you guide her ?

OR
Dhirubhai Chaurasiya operates a textile business. His family is joint and has a lot of
ancestral property. All the 15 family members are a part of this business. He is the
eldest male member in the family so he heads the business. He is liable to all the
creditors of the business as he is the decision maker. Dhirubhai’s grandson has just
born a few days ago and he is also the member of the business.
(a) Which form of business is being undertaken by Dhirubhai Chaurasiya ?
(b) Identify the features of this form of business based on the information given.




